
Math 2001-004: Intro to Discrete Name: SOLUTIONS

Quiz, Week 12

For this quiz, you may want to use these truth tables, for “not,” “or,” “and,”
and “implies.”
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1. Fill in the truth table below to show that ∼ (∼P ) = P .

P ∼P ∼ (∼P )

T F T

F T F

2. Fill in the truth table below to show that

∼ (P ∧Q) =∼P ∨ ∼Q.

P Q ∼P ∼Q P ∧Q ∼ (P ∧Q) ∼P ∨ ∼Q

T T F F T F F

T F F T F T T

F T T F F T T

F F T T F T T



3. Fill in the truth table below to show that

P =∼P ⇒ (Q∧ ∼Q).

P Q ∼P ∼Q Q∧ ∼Q ∼P ⇒ (Q∧ ∼Q)

T T F F F T

T F F T F T

F T T F F F

F F T T F F


